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SEMESTER 2 EXAMINATION – 2023





ECONOMICS
Year 11


MARKING KEY


	SECTION
	AVERAGE

	Multiple Choice
	67%

	Data Interpretation
	60%

	Extended response
	69%

	OVERALL
	65%










Section 1: Multiple Choice		20%  (20 Marks)

1. Which of the following would not be regarded as part of macroeconomics?
a) the unemployment rate
b) the rate of economic growth
c) the level of business confidence
d) job losses in the motor vehicle industry

2. Which one of the following statements about consumption spending is true ?
a) Consumption spending is about 60% of total aggregate expenditure
b) Non-discretionary consumption spending is higher than discretionary consumption spending
c) Changes in interest rates have little effect on the level of consumption spending in Australia
d) Approximately 70% of all consumption spending is on goods and 30% on services

3. Using data in the table below identify the country that will experience an economic expansion in the future.

	Country
	Output ($b)
	Consumption ($b)
	Investment ($b)
	Government spending ($b)
	Exports ($b)
	Imports
($b)

	(a) 
	200
	120
	40
	25
	5
	10

	(b) 
	200
	140
	30
	25
	10
	5

	(c) 
	200
	130
	35
	15
	20
	15

	(d) 
	200
	150
	30
	25
	10
	10



4. Which of the following would be classified as a service import in the circular flow of income?

a) Foreign tourists visiting Australia on a holiday
b) Australian tourists travelling overseas
c) The purchase of foreign cars in Australia
d) The sale of iron ore to China



5. In the simple circular flow of income, the real flow includes

a) the flows of income and consumer spending.
b) the flows of resources and output.
c) the flows of income and resources.
d) the flows of consumer spending and output.




6. In the aggregate production function model below, a rise in productivity is represented by a movement from:A
B
C











a) A to B
b) A to C
c) B to C
d) B to A

7. The table below shows different combinations of performance for three macroeconomic indicators. Which one of the combinations is most likely to indicate an economy experiencing an economic boom?
	
	Imports 
	Price level
	Unemployment

	a)
	Increasing
	Increasing
	Decreasing

	b)
	Decreasing
	Increasing
	Decreasing

	c)
	Increasing
	Decreasing
	Increasing

	d)
	Decreasing
	Decreasing
	Increasing




8. In the context of the Non Accelerating Inflationary Rate of Unemployment (NAIRU), what happens when the actual unemployment rate falls below the estimated NAIRU?

a) Inflation is expected to decrease.
b) Inflation is expected to increase.
c) There is no impact on inflation.
d) Unemployment is expected to rise.

9. To an economy, the opportunity cost of unemployment is the 
a) the lost output and income
b) value of unemployment benefits.
c) loss of taxation revenue.
d) cost of retraining schemes.
10. The underlying rate of inflation is seen by economists as more important than the headline rate because it 
a) includes more goods and services in its regimen.
b) includes those items on which households spend most of their income.
c) excludes those items whose prices rise and fall frequently.
d) is revised more regularly to reflect changes in consumer spending patterns.

11. If the rate of inflation is 5% and the interest rate on bank deposits is 3.5%, then?
a) the real rate of interest is negative. 
b) there is an incentive to save.
c) the real rate of interest on bank deposits is positive.
d) inflation has been anticipated by banks.

12. An increase in online shopping by customers using home computers has reduced the level of employment in ‘bricks and mortar’ department stores, even during the Christmas holiday season. Which term describes this kind of unemployment?

a) Frictional
b) Cyclical
c) Seasonal
d) Structural

Question 13 and 14 refer to the following table

				Employment Data for Country X

	Full-time Employed
	Part-time Employed
	Unemployed
	Working age population
	Total Population

	7,800,000
	3,500,000
	760,000
	19,000,000
	24,000,000



13. The participation rate for Country X  is
a) 50.17%
b) 63.47%
c) 59.95%
d) 79.17%

14. If the underemployment rate for Country X is 7.2%, then the underutilisation rate will be:
a) 13.2 %
b) 11.7%
c) 13.9%
d) 13.5%



	Income $
	Tax paid $

	20,000
	4,000

	30,000
	5,400

	40,000
	6,400

	50,000
	7,000


15. The table below shows the average rate of tax paid by individuals at different levels of income. This tax is an example of a

a) lump sum tax.
b) regressive tax.
c) progressive tax.
d) proportional tax.


Question 16 relates to the table below:

	Taxable income
	Marginal rate of tax

	0 - $18,200
	0

	$18, 201 - $37,000
	19%

	$37,001 - $90,000
	32.5%

	$90,001 - $180,000
	37%

	$180,001 and over
	45%



16. A person who earns an income of $30 000 will pay an average rate of tax of approximately:

a) 19.0%
b) 7.5%
c) 10.0%
d) 9.5%


17. A low Gini coefficient reflects _________ equal income distribution and a high Gini coefficient reflects more _________ income distribution.
a) more, unequal
b) less, unequal
c) more, equal
d) less, equal


18. The largest category of Commonwealth government expenditure is ____________ and the largest category of Commonwealth government revenue is _______________

a) social security and welfare, personal income tax.
b) health, company tax
c) personal income tax, social security and welfare
d) social security and welfare, goods and services tax








19. Which of the following would improve horizontal equity with Australia’s tax system?
a) Raising the tax rate for income earners in the highest tax bracket
b) Introducing new taxes on wealth such as a direct inheritance tax
c) Removing tax loopholes that reduce the tax burden for some income earners
d) Giving everyone the right to the same level of education and healthcare


20. Goods and Services Tax (GST) and excise tax are both:

a) indirect taxes whose incidence is on the seller
b) direct taxes whose impact and incidence is on the individual
c) direct taxes whose impact and incidence is on the employee
d) indirect taxes whose impact is on the seller



End of Section One




















Section Two: Data interpretation/Short answer                           	50%  (50 Marks)

Question 21 	(13 marks)
[bookmark: _Hlk152493789]AVERAGE – 8.7/13 (66%)
The following shows the income and wealth distribution data for a hypothetical country. 
	
	% Households
	% of Income
	Cumulative % income
	% of Wealth
	Cumulative % Wealth

	Lowest 20%
	5
	5
	2
	2

	Second 20%
	10
	15
	5
	7

	Third 20%
	20
	35
	13
	20

	Fourth 20%
	35
	70
	30
	50

	Highest 20%
	30
	100
	50
	100


								
a) On the grid below, construct a Lorenz Curve for income and for wealth distribution in this country.												(4 marks)

Comments
· Easy ½ marks lost for:
· Omission of labelling (line of perfect equality, wealth and income curves)
· Incorrect scale (should be in quintiles to match data)
· Many students incorrectly labelling x and y axis % households and % wealth and income BUT this is incorrect. It is a cumulative % (important !)
· If wealth and income curves are plotted but not labelled then you got 0, as unable to determine from model which is which. 
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Marking key

	Description
	Mark

	Axes and labelling of axes
	1

	Line of perfect equality (labelled)
	1

	Income Lorenz curve plotted correctly and labelled (to cumulative data)
	1

	Wealth Lorenz curve plotted correctly and labelled (to cumulative data)
	1

	TOTAL
	4
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Good Answer
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b) Define the terms income and wealth and using evidence from the data, outline which is more unequally distributed in this country ? 							(3 marks)


Comments
· Very poor definitions of wealth and income. Must be accurate and comprehensive to achieve a full mark here. ½ marks were given for partly correct definitions (would be 0 in Year 12)
· Not enough to state ‘ HH earnings to spend on G and S ‘ (too simplistic, not a definition)
· Not enough to just refers to wage income
· Not enough to just refer to value of assets. Wealth is assets less liabilities (or net value of assets)
· Use examples. Income and Wealth have many examples to draw on This adds depth to your response.
· Question asks for ‘evidence from the data’ to outline why wealth is more unequally distributed. Just stating Lorenz curve is further away is NOT using evidence from the data. MUST quote actual data comparison between income and wealth. See below.



	Marking key

	Description
	Mark

	Income and wealth

	Defines income
	1

	Defines wealth
	1

	Outlines which is more unequal (supported with data)
	1

	
Answers should include: 
· Definition of income : 
· all current receipts, whether monetary or in kind, that are received by the household or by individual members of the household, and which are available for, or intended to support, current consumption (OECD Definition)
OR
· the amount of money households earn from supplying the factors of production (plus welfare and other benefits) e.g wages , interest (Final income definition)
· Definition of wealth :  
· net value of real and financial assets owned by individuals at a point in time. The difference between a household’s assets and liabilities  (or net assets)

· Wealth more unequal than income: 
· Evidence: highest 20% of the population has 50% of the wealth and only 30% of the income or lowest 20% of the population has 5% of the income and 2% of the wealth


	TOTAL
	3








Good Answers


1st approach – Did not provide data evidence for wealth inequaluty
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c) Explain how each of the following government policies may affect the income distribution for this country. 											(6 marks)

i. A rise in the marginal rate of tax for income earners over $180,000
ii. A rise in GST from 10% to 15%.
iii. A rise in the unemployment benefit


Comments
· Responses were superficial, lacking in detail and did not use correct terminology.
· Questions asks you to ‘explain how policy may affect income distribution’ (2 marks per policy). To gain 2 marks students needed to
· State effect on income distribution
· Explain how it affects income distribution in this way
· Cannot just state ‘ rise/fall in income distribution’ – this is vague and meaningless !! Needed to be clear here - more equal, less equal.
· Needed to clearly explain HOW the policy affects income distribution. Merely restating the policy is not explaining e.g. many students stating a rise in MRT increases the tax of higher income earners. 
· Poor use of terminology – very important to use correct language - progressive, regressive, welfare /transfer payments etc. 



Marking key

	Description
	Mark

	For each government policy – 3 x 2 marks each

	States effect on income distribution
	1

	Explains effect on income distribution (using correct terminology and theory)
	1

	Sub-total (x 3)
	2

	
Answers may include: 

A rise in the marginal rate of tax for income earners over $180,000.
· Effect - Will improve income equality 
· Explanation - Progressive tax so highest MRT for high income earners (top quintile),reduces gap between highest and lowest quintiles

A rise in GST from 10% to 15%.
· Effect - Will decrease income equality 
· Explanation - Regressive tax so lower income quintile will pay a proportionately higher ART than higher income quintile. Increases gap between highest and lowest income earners.

A rise in unemployment benefits. 
· Effect - A rise in welfare payments will increase income equality 
· Explanation - Direct welfare payments transferred to lower income earners (lowest quintile) so gap between highest and lowest income earners will be reduced



	TOTAL
	6









Good Answer
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Question 22 	(12 marks)

AVERAGE – 7.6/12 (64%)

a) Complete the circular flow of income model below by labelling boxes i to viii.	(4 marks)
Comments
· Very well done
· Only slight concern was students getting imports and exports around the wrong way


Marking key
Income




Firms

Resources

Households


						Goods and Services



Consumption spending



						ii. 
Finance sector
iii.Investment
i.Savings




vi.Govt spending

v. Government sector
iv.Tax




viii.Exports
vii.Imports

Overseas
sector




½ mark for each label






b) With reference to leakages and injections in the model, explain the concept of ‘equilibrium’. 															(2 marks)
Comments
· Students not providing enough detail. Questions asks for you to refer to leakages and injection in the model and explain the concept of equilibrium.
· Must quote the leakages and injections ( S + T + M = I +  G + X). Would suggest these are written out in full but accepted letters.
· For full 2 marks students also required to explain that Lkg = Inj means that O = Y = E. This is the concept of equilibrium.

[bookmark: _Hlk152224537]Marking key
	Description
	Mark

	Equilibrium

	Describes leakages = injections (S + T + M = I + G + X)
	1

	Describes concept of equilibrium where O = Y = E
	1

	Total
	2

	Answers may  include: 
· Leakages = Injections. So S + T  + M = I + G + X
· Equilibrium is where O = Y = E. 
· No tendency to change, GDP constant





[image: A close-up of a piece of paper
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‘Over 2022 households lowered their savings in order to fund consumption expenditure. A reduction in saving increases the amount of funds allocated to spending, thereby lifting aggregate demand and economic growth in the economy’ 									Plain English 2023 


__________________________________________________________
					
c) Assume that the Circular Flow of Income model is initially in equilibrium. Describe how a fall in savings can lead to higher rates of economic growth.						(6 marks)
Comments
· Very badly done – disappointing 
· Question asks for an explanation of HOW a fall in S causes higher EG so needed :effect of a fall in S, adjustment process and clear link to rising EG
· Many students did not describe the 4 steps of the adjustment process at all. 
· Others wrote a very simplistic version of the adjustment process with missing steps (inventory change) or getting the order wrong
· Students seemed unable to unpack what was required for 6 marks:
· 4 steps  4 marks
· Fall in savings  1 mark
· Higher rates of EG  1 mark


Marking key
	Description
	Mark

	Describes process of adjustment

	Describes equilibrium and identifies that a fall in savings is a fall in leakages
	1

	Describes the 4 step adjustment process
	4

	Links description to a rise in economic growth
	1

	Total
	6

	Answers may include: 

Equilibrium and identification of savings as a leakage
· Economy starts in equilbrium (O = Y = E) 
· Savings is a leakage from HH into finance sector
· Fall in savings  fall in leakages

4 steps
· Disequilibrium  -  savings falls and consumption spending rises therefore injections > leakages, so total expenditure  > output
· Inventory change - unsold stocks of good held by firms (known as inventories) decrease.
· Production change - Firms react to higher spending by increasing production and increasing the amount of resources they employ in production. This means households will receive more income. 
· Return to equilibrium - The leakage of saving, tax and imports will rise until they equal the injections of investment, government spending and exports. Economy returns to equilibrium.

Effect on economic growth
· Output (O), Income (Y) and Expenditure (E ) has increased with economy establishing a new equilibrium level at higher level
· Economic growth rises (economy expands)







Good Answer
[image: ]





Question 23 												(12 marks)

AVERAGE – 6.6/12 (55%)
This question refers to the following economic indicators for the Australian economy: 

	Quarter
	CPI Quarterly Change
	Quarterly Real GDP $billion
	Unemployment Rate %

	Sep-21
	119.7
	521.4
	4.7

	Dec-21
	121.3
	541.6
	4.2

	Mar-22
	123.9
	544.8
	3.9

	Jun-22
	126.1
	549.3
	3.6

	Sep-22
	128.4
	552.6
	3.6

	Dec-22
	130.8
	555.8
	3.5

	Mar-23
	[bookmark: RANGE!J309]132.6
	557.1
	3.5


a) Calculate the annual rate of inflation and the annual growth rate of Real GDP as at the March quarter 2023 (to one decimal place).	(2 marks)


Comments
· Generally well done
· Tip – always include your workings as you may get ½ marks if answer is wrong but formula is correct
· Students can calculate 4 quarters and add them together OR calculate over the annual period

i. annual rate of inflation: 
[bookmark: _Hlk152224586]
	[bookmark: _Hlk149481455]Description
	Mark

	Calculates annual rate of inflation

	Correct calculation to 1 dp 
	1

	Total
	1

	Answers should  include: 

CPI (2) – CPI (1) / CPI (1)

132.6 – 123.9 / 123.9 = 7.0%



Marking key

ii. annual growth rate of Real GDP: 
	Description
	Mark

	Calculates annual growth rate in GDP

	Correct calculation to 1 dp 
	1

	Total
	1

	Answers should  include: 

GDP Growth = GDP (2) – GDP(1) / GDP (1)

557.1 – 544.8 / 544.8 = 2.3%



b) Define the governments macro objectives of sustainable economic growth, full employment and price stability. State the target for each objective and whether it was achieved in March 2023 	(6 marks)

Comments

1st part of question - definitions
· Very poor definitions ! 
· Students have not learnt these definitions at all (needed for Year 12)
· Students were unable to provide accurate definitions of the macro objectives. In Economics it is critical to learn your definitions correctly. 
· Near enough is not good enough.

2nd part of question – achievement of target
· Very poor !
· Question was clear – needed to state the target and whether it was achieved in March 2023. 
· Many students not giving target at all or getting target incorrect
· Many students not stating March 2023 rate 
· Many students not stating whether it was achieved

Marking key
	Description
	Mark

	For each macro objective   – 3 x 2 mark

	Defines the objective 
	1

	States the target and whether it has been achieved March 2023 
	1

	Sub-total (x 3)
	2

	Answers should include: 



	
	Definition
	Achievement of target

	SUSTAINABLE ECONOMIC GROWTH

	The increasing capacity of the economy to satisfy the material needs and wants of its members

	Target = 3.5%
Not achieved in March 2023 as GDP is 2.3%

	FULL EMPLOYMENT

	When everyone in the workforce who is willing and able to work can find a job.

	Target = 4 / 4.5%
Not achieved in March 2023 as Ue rate is 3.5%

	PRICE STABILITY
	Maintaining low and stable inflation over the business cycle
	Target is 2-3%
Not achieved in March 2023 as Inflation rate is 7%





	TOTAL
	6









Good Answer
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c) Illustrate the Phillips curve model and discuss the relationship between inflation and unemployment. Use examples from the data to support your discussion. 		(4 marks)

Comments
· Overall very poor !!

Model
· Lazy and inaccurate  – axes not ruled up, curve not labelled, inaccurate axes labels (marked generously but many models would be 0 in Year 12, accuracy is critical in Economics)
· Axes should be Inflation rate (%) and unemployment rate (%), curve should be labelled ‘ Phillips curve’
Explanation
· Inverse relationship means variable moves in opposite directions. Some students stating positive or direct relationship but this is totally incorrect
· Needed some explanation of WHY Infl and UE have an inverse relationship
· Also needed to provide examples from the data

Marking key
	Description
	Mark

	Model – Phillips curve

	Axes labelled correctly
	1

	Downward sloping curve
	1

	Sub-total
	2

	Discussion 

	Correctly discusses inverse relationship with some explanation
	1

	Use of examples from data source to support explanation
	1

	Sub-total
	2

	Answers may include: 
[image: A graph of unemployment rate
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Model










Explanation of the theory
· The Phillips curve shows the inverse relationship between inflation and unemployment. As unemployment decreases, inflation increases
· Explanation of why (example) - economic growth is high, demand for goods and services is high, along with demand for resources. Unemployment levels fall   upward pressure on prices (demand pull inflation). May also be cost push inflation  as the economy faces capacity constraints 
Data (example)
· From Sept 2021 to March 2023, inflation is rising (refers to data e.g. in Dec qtr 2021 inflation rate was 1.3%, in Dec qtr 2022 inflation rate was 1.8%) and UE is falling (refers to data e.g. in Dec qtr 4.2% and in Dec qtr 2022 it was 3.5%)


	TOTAL
	4



[bookmark: _Hlk152315065]Good Answers
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Question 24 	(13 marks)
AVERAGE – 6.7/13 (52%)

Read the excerpt from the following International Monetary Fund (IMF) article, then answer the questions that follow
GDP – an economy’s all

GDP measures the monetary value of final goods and services—that is, those that are bought by the final user—produced in a country in a given period of time (say a quarter or a year).

GDP is important because it gives information about the size of the economy and how an economy is performing. The growth rate of real GDP is often used as an indicator of the general health of the economy. In broad terms, an increase in real GDP is interpreted as a sign that the economy is doing well. When real GDP is growing strongly, employment is likely to be increasing as companies hire more workers and people have more money in their pockets. When real GDP is shrinking, as it did in many countries during the recent global economic crisis, employment often declines. 

However, not all productive activity is included in GDP. For example, unpaid work (such as that performed in the home or by volunteers) and black-market activities are not included because they are difficult to measure and value accurately.

It is also important to understand what GDP cannot tell us. GDP does not include all productive activity, nor does it measure of the overall standard of living or well-being of a country. 

Source – IMF Gross Domestic Product: An Economy’s All (imf.org)
















a) Define real GDP 											(1 mark)


Comments
· The theme continues with poor definitions !
· Some students : missing ‘adjusted for inflation’ altogether


Marking key
	[bookmark: _Hlk149483569]Description
	Mark

	Defines real GDP

	Correct definition 
	1

	Total
	1

	Answers must  include: 
· Real GDP is a measure which adjusts nominal GDP by removing the effects of inflation (or price changes) 













Good Answer
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b) List two limitations of GDP as a measure of economic growth 			(2 marks)

Comments
· Easy 2 marks with answer in the data
· However, many students offering limitations of CPI or costs of EG as an answer



Marking key
	Description
	Mark

	For each limitation – 2 x 1 mark

	Lists a correct limitation 
	1

	Sub-total (x2)
	1

	Answers may include: 

From the article
· Unpaid work
· Black market activities

Also accept:
· Differences in the distribution of income
· The quality of products
· Working conditions
· Environmental impacts 
· Quality of Life
· Household Debt and Savings
· Productivity

	TOTAL
	2





Good Answer
[image: A close-up of a document
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c) Discuss one alternative measure of economic growth 				(2 marks)

Comments
· Straightforward question, done fairly well
· As question was asking students to ‘discuss’ needed more than just an outline of an alternative measure. Use of examples, how survey is measured, indicators used ets
· Inflation, Real GDP and UE are not alternative measures of EG



Marking key
	Description
	Mark

	Alternative measure

	States a correct alternative measure with some explanation of what it measures
	1

	Provides further explanation e.g. indicators, how surveyed, examples, why a better measure etc
	1

	Total
	2

	Answers may  include: 

· OECD better life index
· Gross National Happiness
· Green Planet Index
· Other relevant and correct index’s






[bookmark: _Hlk152162670]Good Answer
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d) Describe one benefit and two costs of economic growth 				(4 marks)

Comments
· Done badly !! Question asks students to ‘describe’ which is more than just a brief explanation
· Needed to explain HOW the benefit or cost occurs (link to EG) AND WHY it’s a cost of benefit (cause and effect)
· There are many possible answers but responses MUST have enough details and be logical and economically correct.
· Correct terminology is essential

	
	Weak approach – 1 mark
	Good approach – 2 marks

	
Benefit – rise in Standard of living


	
Rise in standard of living. People earn more money so can buy more goods and services which means a rise in their standard of living.
	One benefit is a rise in the standard of living. A rise in economic growth means there is more production of goods and services which leads to a rise in employment (how it links to EG)  Rising household income means more goods and services can be purchased which increases standard of living (why its a benefit)

	

Cost- Rising inflation
	
A rise in inflation. A rise in EG causes demand pull inflation which is a negative for consumers.
	
One cost of EG is a rise in inflation. As EG occurs so employment increases. This creates a rise in aggregate demand causing demand pull inflation. IF resources markets are tight cost push inflation will also result. (how it links to EG) . This erodes the purchasing power of households and businesses which may dampen future EG.(why it’s a cost)



Marking key
	Description
	Mark

	For each benefit and cost – 3 x 2 marks

	Provides explanation of how the benefit or cost occurs (link to economic growth)
	1

	Provides explanation of why it’s a cost or benefit (using examples) 
	1

	Sub-total (x 3)
	2

	Answers may include: 

Benefits – any one of the following
· Increases material welfare  increases real income  incr G and S
· Consumption of more goods and services (increases in quality and quantity)
· Increasing levels of real income
· Increases income and wealth
· Increased trade
· Improved living standards
· Falling inflation (if growth comes from increases in productivity)
· Increased employment
· Increased government revenue
Costs – any two of the following
· Working hours
· Structural UE
· Consumerism
· Uneven distribution of income
· Environmental degradation
· Inflation – demand pull + cost push 
· Rural v’s urban divide

	Total
	6



Good Answer
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e) Using examples, discuss how the economy can improve the quality and quantity of its capital to achieve an increase in its potential growth rate.						(4 marks)

Comments
· Many students not reading this question carefully - discussing labour NOT capital. 
· Question asked for examples. Many not giving any examples at all. 
· Very few students achieved full marks for this question.

Marking key
	Description
	Marks

	Explains how the quantity of capital could increase 
	2

	Explains how the quality of capital could increase 
	2

	Total
	4

	Answers may include

· Increased QUALITY of capital
· Improvement in capital productivity through technology, research and development, innovation
· For example: faster internet speeds, digitisation, automation, technology adoption in the agricultural sector, 5G networks, cyber security, robotics, data analytics etc


Increased QUANTITY of capital
· Through Investment (Capital deepening) – either public and/or private.
· May also be driven by tax incentives for business to invest, foreign direct investment
· For example: infrastructure spending (roads, bridges, port, railway etc), access to NBN, internet penetration for country areas, laptops/phones for staff of a company. 



[image: ]Good Answer



Section Three: Extended answer 	17% (15 Marks)


Question 25	(15 marks)

‘Headline CPI inflation was 7.8% over the year to December 2022 which is well above the government’s inflation target’


a) Describe how the consumer price index (CPI) is constructed and used to measure inflation.															(3 marks)
COMMENTS
· Students must fully state Consumer Price Index before abbreviating to CPI
· Lacking details in terms of ‘how the CPI is constructed’. Very few gave any details about the basket of goods, how items are weighted, and even less stated how the index itself is calculated.
· Most just jumped ahead to state the inflation rate calculation – which is not how the index is constructed.





	Description
	Marks

	CPI description

	Provides explanation of how CPI is constructed (4 parts)
	2

	Provides equation for calculation of Inflation rate
	1

	Total
	3

	Answers may include:

Construction of CPI
· 'basket' of goods and services selected  (100k items, 87 categories, 11 groups)
· Goods and services weighted according to importance to average HH (how much they spend)
· Base year is set and given an index of 100
· Index number is calculated by taking total value of expenditure for Year X / Total expenditure for base year x 100 

Inflation equation

 x 100













Good Answer
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b) Distinguish between ‘demand pull’ and ‘cost push’ inflation and discuss one cause of ‘demand pull’ inflation and one cause of ‘cost push’ inflation in the year to December 2022.			 		 										(6 marks)

COMMENTS
· Definitions quite well done.
· Causes were poor for Demand-Pull, with many not making reference to the context of the question – December 2022. Poor examples included use of micro-economic terms such as ‘seasonal demand for boardshorts or sunscreen’.
· Cost-Push inflation was better, but many just stated ‘supply chain disruptions’ or war in Ukraine increasing all prices (without any reference to HOW this causes domestic inflation in Australia).


	Description
	Mark

	Demand pull and cost push inflation – 2 x 1 marks
	

	Defines type of inflation 
	1

	Sub-total
	2

	For each cause – 2 x 2 marks
	

	Provides relevant and current explanation of cause of D pull and C push in the year to Dec 2022
	2

	Sub-total
	4

	Answers may include


Definitions
· Demand pull inflation -  ‘too much money chasing too few goods’, Caused by high levels of aggregate demand 
· Cost push inflation - Cost-push inflation is determined by supply side factors. This occurs when prices rise due to higher costs of production and higher costs of raw materials. E.g.  higher wages and higher oil prices.
· Could support with AD/AS models – but not required
Causes 

Of demand pull inflation : 
· Strong domestic demand, reflecting the rapid economic recovery from the pandemic 
· Low UE : higher incomes  rise in C
· Low interest rates : rise in C and I
· Depreciation in AUD  increased price of M’s and fall in X prices for foreign buyers 
· Govt spending incr during Covid  rise in G e.g. policy support during Covid period
· Expectations  rise in spending now

Of cost push inflation :
· Supply shocks have accounted for at least half of the increase in inflation. This reflects a range of events, including: supply issues related to the war in Ukraine; other global supply disruptions resulting from the COVID-19 pandemic; and domestic supply disruptions from poor weather.
· Rising oil prices - when there is a big increase in prices of critical commodities like oil. This results in higher transport costs and all firms would see a rise in costs.
· Higher wages – wage price spiral, wages form a large percentage of costs for firms. Shortages of labour will lead to higher wages, which will leads to an increase in costs of production for the firm and therefore higher priced goods.
· Imported inflation - falling $A pushes up the cost of imports - price of imported goods↑→ production costs ↑, also prices of imported consumer goods ↑→ inflation.



	TOTAL
	6



Good Answer
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c) Discuss three benefits of the government achieving its inflation target rate.		(6 marks)
		

COMMENTS
· While there was no marks allocated for it, a good answer would write a short introduction which states the inflation target of 2-3% on average over time.
· Most students answered this poorly, by simply stating that by achieving the inflation target we will achieve our other government objectives (which is not necessarily true)
· Poor answers also said things like ‘ Increased demand, more jobs or increased confidence without stating HOW this is achieved and how it is a benefit.


	Description
	Marks

	For each benefit – 3 x 2 marks

	States a benefit with limited explanation
	1

	Provides explanation of WHY it is a benefit (may use examples)
	1

	Sub-total (x 3)
	2

	Answers may include:

· Consumers purchasing power (the real value of money) is maintained. If prices are increasing slower than people’s nominal incomes, then real incomes increase. 
· Spending and investment decisions are not distorted. This is because high inflation can influence when households make purchases or businesses make investment decisions. 
· Reduces uncertainty and risk of spending decisions. This encourages spending and investment and leads to increased economic growth. promotes long term growth and job creation – Businesses more likely to invest if they expect prices to remain stable
· Fosters investment. Low and stable inflation is a macroeconomic indicator for stability that contributes greatly to the confidence in making investment decisions. Promotes productive, long term investment –> future growth
· Does not distort resource allocation. Promotes the efficient use of productive resources rather than speculative investment which promotes inefficient resource allocation.
· Does not distort income distribution. Low and fixed income earners are better off as purchasing power is maintained
· International competitiveness will rise. Competitiveness of exports will rise  If inflation is lower in one country, then the goods and services it produces will be relatively cheaper compared with other countries.
· Protects low and fixed income earners, pensioners and other workers who have little income negotiation power. Low inflation maintains the value of their income payments.
· Less pressure on Ir as government is achieving macro objective, no pressure for RBA to move on the cash rate
· Improves confidence in money as a store of value – maintains the real value of savings
· Less bracket creep for tax payers
· Any other valid economic point, discussed in detail.


	TOTAL
	6
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 Question 26 	(15 marks)
a) Define the business cycle and draw a fully labelled model of the business cycle.	 (3 marks)

COMMENTS
· Most definitions are really poor or vague – not ‘textbook’ course definitions.
· Many students did not label the potential or ‘trend-line’ at all, and many called it ‘average growth rate’.
· Many also did not draw axes – or label axes properly.

	[bookmark: _Hlk149486062]Description
	Mark

	Model

	All 4 phases labelled correctly
	1

	Axes labelled correctly and potential GDP (trend line) drawn and labelled
	1

	Sub-total
	2

	Defines Business cycle 

	States a characteristic
	1

	Sub-total 
	1

	Answers may include
[image: ]

Model







Definition 
· The business cycle refers to regular fluctuations in economic activity over time. 

	TOTAL
	8




Good Answer
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b) Using examples, differentiate between leading, lagging and coincident indicators. 																	(6 marks)
COMMENTS
· Most students could define the 3 types of indicators, but many did not explain how their chosen examples were leading, or lagging.
· Many students used bullet/dot points, instead of short paragraphs.

	Description
	Mark

	For each indicator  - 3 x 2 marks

	Defines indicator
	1

	Provides an example and explains how it is leading, lagging, or coincidental
	1

	Sub-total
	2

	Answers may include

Leading indicators 
· Definition: Predict changes in economic activity. They change before a direction becomes evident in the rest of the economy.  
· Examples include share prices and financial markets in general, confidence ratings (households and firms), building approvals – indicate future demand for labour/resources and increased incomes.

Co-incident indicators 
· Definition - Move in line with the level of economic activity. 
· Examples include retail spending, manufacturing output, sales of consumer durables, production of building materials, job advertisements, GDP.

Lagging indicators 
· Definition - Don’t show any change until after the trends in the rest of the economy are confirmed. 
· Examples include  unemployment rate (once people lose their jobs the economy has already started to decline, employers hang on to labour as long as they can), inflation rate (occurs once there is an increase in demand in the economy or costs have risen), consumer debt levels and savings levels (reflecting the downturn that has started to occurred).

	TOTAL
	6
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c) Describe the following three economic indicators and explain how each indicator would be expected to change as the economy moves from a trough to an upswing phase of the business cycle.          													(6 marks)						
i. Labour force Participation rate
ii. Capacity utilisation (spare capacity)
iii. Government budget balance

COMMENTS
· Labour Force Participation Rate: Some confusion, many stating it was a ‘measure of who is actively seeking work out of the population’.
· Many stated how it would change, without actually explaining how/why it does so.
· Some confusion by stating falling unemployment rates means increased LFPR – wrong.
· Spare Capacity definitions were poor, and often confused by stating it is ‘stock on the shelf’. Confusing resources for goods.
· Government Budget Balance – poorly/vaguely defined, often just as ‘how much money the government has to spend’.
· Poor use of terms deficit and surplus budgets.


	Description
	Mark

	For each indicator  - 3 x 2 marks
	

	Describes indicator
	1

	Explains the expected change in upswing phase and why
	1

	Sub-total
	2

	Answers may include


Labour force Participation rate
· Describes: LF / WAP  - write in a sentence
· Change expected: will rise in an upswing as more jobs available; discouraged labour, retired and home makers re-enter workforce


Capacity utilisation (spare capacity)
· Describes: Availability of resources (land, labour, capital and enterprise) that can be applied to production of goods and services; potential of the economy reflects the resource capacity of the economy. Will be high in a trough (unemployed labour, capital equipment idle); coincident indicator
· Change expected: Will begin to fall ; as aggregate demand increases  increased production of goods and services therefore higher demand for resources which reduces the capacity of the economy 

Government budget balance
· Describes : The difference between government revenue and taxation; Budget deficit (G > T), Budget surplus (T > G)
· Change expected: budget balance should move into surplus (rise) as T rises due to more people employed  rising income tax and higher levels of company profits  rising company tax income. Also lower G as more people working so less social security and welfare spending

	TOTAL	
	6
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[image: A close-up of a paper

Description automatically generated]
image1.png
HALE

SCHOOIL




image2.png
Photos - SHALE SCHOO 18081307480 (002).jpg

< i 000
w See all photos E Add to a creation lZ\ Edit & Create |_Q Share gj

S

E“’&‘“‘ Chapter 8 Economic growth 183

The actual rate of economic growth at any point in time depends on the
willingness of people to buy the goods and services produced. That is, in
a boom, the total level of spending is higher as more people are employed,
they may earn pay rises, and are more confident about spending. Similarly,
businesses invest in new equipment and use more resources. In a recession,
total spending levels fall.

We will illustrate potential growth using the aggregate production function
model, as drawn in figure 8.7. The x-axis represents the amount of a resource
used in production; the y-axis shows the output that can be produced using
that resource. Using current resources (R1), Y1 is the level of output that can
be achieved.

The lower line Q1 shows that output increases when there are increases in
the quantity of natural, human or capital resources used in production.

curved downwards because of the Law of Diminishing Returns. Employing
more units of a factor of production (e.g. R2 - R1) increase: output from Y1 to
Y2. The line Q2 llustrates what happens to output when technology changes
Technology in economics is not machines, computers or gadgets (although
they are part of it). Technology is inputs other than land, labour and capital
- as we will illustrate below when we discuss some of the factors that have
been important in Australia’s recent growth. Applying more ‘technology’
at the current level of production (R1) causes output to rise from Y1 to Y3

- increasing resource quality has a greater impact than increasing resource

quantity!

Natural resources are often the foundation of economic growth in the early
stages of a country’s development. In Australia’s case, the contribution of
natural resources to economic growth was greatest in the later part of the
1800s, when the gold booms occurred and land was cleared for agriculture

Figure 8.7 The aggregate production function
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a) On the grid below, construct a Lorenz Curve for income and for wealth distribution in this
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b) With reference to leakages and injections in the model, explain the concept of ‘equilibrium’.
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c) Assume that the Circular Flow of Income model is initially in equilibrium. Describe how a fall in
savings can lead to higher rates of economic growth. (6 marks)
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